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Abstract

Schwarzschild’s solution has been used to calculate the
light’s winding in the gravitational field. However, for
Schwarzschild’s solution to include nonlinear distortion
of the radial axis, it is very difficult to calculate the
light’s winding. Therefore, the new method is based on the
assumption that the radial axis 1s not distorted, only the
light advances changing the advancing speed and the
advancing direction. The validity of the new method is
proved by showing that the nonlinear distortion of the
radial axis 1in Schwarzschild’s solution corresponds to the
light’s winding derived by the new method.
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